
1-10 90 80 70 60 50 40 30 20 10 0

1) A coat manufacturer puts 431 coats in a shipment. If they sent out 80 shipments, how many
coats would they have sent out?

2) A gas station sells 928 gallons of gas an hour. How much gas would they have sold after
10 hours?

3) A movie theater sells 319 buckets of popcorn a day. If each bucket has 55 pieces of
popcorn in it, how many pieces do they sell in a day?

4) A farmer has 344 rows of corn. If he can get 16 ears of corn from each row, how many ears
of corn would he have total?

5) Each day 127 new apps are uploaded to a web server. After 69 days, how many apps would
have been uploaded?

6) Each day the gumball machine in the mall sells 454 gum balls. How many gum balls would
they have sold after 30 days?

7) A race was 841 meters. If 49 people ran in the marathon how many meters would they
have run total?

8) A mail sorting machine can sort 218 pieces of mail an hour. If it ran for 49 hour, how many
pieces of mail would it have sorted?

9) A video game company can fit 295 boxes of games into a truck. If they have 62 full trucks,
how many games do they have total?

10) Faye was building a LEGO tower. She built it with 845 stories and with 27 blocks on each
story. How many LEGO blocks would she have used?

1. 34,480

2. 9,280

3. 17,545

4. 5,504

5. 8,763

6. 13,620

7. 41,209

8. 10,682

9. 18,290

10. 22,815

     

Solve each problem.

Finding Product (3 × 2)
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Modified 1-10 90 80 70 60 50 40 30 20 10 0

1) A coat manufacturer puts 431 coats in a shipment. If they sent out 80 shipments, how
many coats would they have sent out?

2) A gas station sells 928 gallons of gas an hour. How much gas would they have sold after
10 hours?

3) A movie theater sells 319 buckets of popcorn a day. If each bucket has 55 pieces of
popcorn in it, how many pieces do they sell in a day?

4) A farmer has 344 rows of corn. If he can get 16 ears of corn from each row, how many
ears of corn would he have total?

5) Each day 127 new apps are uploaded to a web server. After 69 days, how many apps
would have been uploaded?

6) Each day the gumball machine in the mall sells 454 gum balls. How many gum balls
would they have sold after 30 days?

7) A race was 841 meters. If 49 people ran in the marathon how many meters would they
have run total?

8) A mail sorting machine can sort 218 pieces of mail an hour. If it ran for 49 hour, how
many pieces of mail would it have sorted?

9) A video game company can fit 295 boxes of games into a truck. If they have 62 full trucks,
how many games do they have total?

10) Faye was building a LEGO tower. She built it with 845 stories and with 27 blocks on each
story. How many LEGO blocks would she have used?

10,682 34,480 13,620 41,209 9,280

8,763 22,815 18,290 17,545 5,504

1. 34,480

2. 9,280

3. 17,545

4. 5,504
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6. 13,620
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8. 10,682

9. 18,290
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